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Ouestion: 1

He was able to his small income by working in a hotel at night.

(A) multiply

(B) expand

(C) supplement

(D) amplify

Ans: C

supplement

Cuestion: 2

Since the road was closed for repairs he took the

{A) divergence

(B) diversion

(C) digression

(D) deviation

Ans: B

diversion

Cuestion: 3

The young man was quickly promoted when his Managing Director saw how he was.



(A) indigent

(B) lethargic

{C) cursory

(D) assiduous

Ans: D

assiduous

Cuestion: 4

hiarie Curie was excited when she knew that she was on the of a new discovery.

(A} gateway

{B) threshold

(C) frontier

(D) outskirts

Ans: B

threshold

QOuestion: 5

Belying his mothera€™s worries, Mahesha€™s behavior throughout the function was

{4) impeccable

(B) imaginable

(C) imperial



Ans: A
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